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A study to assess the necessity of the 0 symbol, representation of ties, in the calculation of the recently proposed Slope Entropy(SIpEn) method. The results

confirm the complete implementation of SIpEn achieves a higher classification accuracy.

Introduction

e Use a varied and diverse experimental datasets to characterize the classification performance of SIpEn in its standard form and when symbol O is

removed.

e Use also Permutation Entropy(PE) for comparative purposes.

Materials and Methods

e SlpEn is based on the symbolic representation of differences between consecutive samples in time series.

e In this work seven datasets have been used, including biomedical and industrial time series.

e A comparative analysis among standard SIpEn, simplified SlpEn, and standard PE.

Results
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Fig 1: The original SIpEn.
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Fig 2: The modified SIpEn.
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Discussion and Conclusion

The complete SIpEn method achieves a higher accuracy in most cases compared to the simplified version and PE. It is not advisable to remove the 0 symbol

from the SIpEn calculation.



